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This question paper contains 200 .ﬂ;s /4| WA T 1 200 w7 # |
All questions are compulsory. / Wy oo e # |

One question carries half mark only, ; s WA # foru as o w1 R |

Maximum Marks : 100 Ay 37 - 100
Time : 2 Hours A9y : 2 qu

1.  Adigital Eﬂmpﬂlﬂf did no SCore gyer an analog computer in terms of

(A) s (B) ﬂ'i'ifl.lrat}r (C) reliability (D) cost
o e W, T

A foraes & FEa TE R 7
(A) s [E] ‘lfta_[;mm (C) fawmedam (D) =
2, 'ghc basic unit within a LOMputer that is capable of hnldlng a smglc unit of
ala is

(A) register (B) ALU ¢y Control 1 5
P 1 e 8 A o
(A) TR (B) tumg {r_,}

'ﬁg.,.ﬁ& é.

3.  The hard drive is normally locgred k
(A) next to the printer g \©
(B) plugged into the back nf ‘&eri‘lu

(C) underneath the monng
(D) inside the system :
: A t ?

(B) m#ﬁwﬁifﬂi

’ (D) Foreen & gm wrd & a7er
4, s refers to
g #n instruction

(C) ferching, decoding and executing an instruction

(D) executing an instruction

U= WY o5 1 HeM 2

(A) T A

(B) wrerg nfa

(C) = A, femrea 3 Femzq

(D) 33w
5. A dot matrix printer

(A) is an input device (B) is an output device

(C) cannot print alphabet (D) None of these

T sfe Ao fire 2

(A) % e g (B) T el

(C) aviwren (Uepaie) fife 78 % H (D) $90 & =18

e 3

i
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9.

10,

11.

12.

Memory that cannot be processed directly by CPU is

(A) Internal memory (B) External memory

C) Cache memory (D) System memory
Ay gAY A A T EE R, R

(A) mﬁaﬂ%ﬂ (B) = qurl

(C) 39 (Cache) B (D) fow=m oOrdd

Conversion of decimal number (71)yq 10 its binary number equivalent is
IS W (71),, @ I6 e 96 7 gfadq R
(A) (110011);  (B) (1110011); (C) (0110011), (D) (1000111),

Addition of (10), and (01 )y 18
(10), 3 (01), F17m 2
(A) (10), (B) (01), (C) (11), (D) (101},

W}:iich of the following is used to instruct the computer, what to do and how
todoit?

(A) Hardware (B) Operating System
gi':}' Software ) (D) Device Driver
5 8 R Foe F a2 o S w0 R @ sy 9 ¥ ferd 3w

e 2 7
(A) EEaW (B) WOeW® () TwaR (D) framwImwm

A computer virus that actively attacks an antivirus Program or programs ir
an cffort to prevent detection is

(A) Worm (B) R:u'mfims_ (C) Trojan (D)) Ghost virus
T IrETE W1 WA A U T I S @ e W w9 | e
% YAE Y ATEFR AT R, AR 7

(A) ¢ (B) BEm@  (C) 7 (D) Nz ary

What is true about assembly language ?
(A) ltis easy to understand and use (B) Itis not a machine dependent
(C) Itis a group of languages (D) All of these

TR ST o T4 1 He 2 7

(A) TRTEFA 3N ITM FA A HEAR |(B) T8 WA Pl A g

(C) & W3 1 0 AR & | (D) =& =

Which operating system, is used by Macintosh computers 2
(A) Windows (B) Linux

(A) fagra (B) TSI

(C) I (D) ¥ AT freem

Code No. : C-841/2022/Series-C il
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13,

Which command in DOS i5 gy name to a disk ? '
€A (DOS) & BYR T T2 U3y sy 70 4 5 370 39 o e 7
(A) LABEL  (B) VoL (C) VOLUME (D) DISKLABEL

14.  In MS-Windows, notification grey (s g feature of which bar ?
(A) Title _ :Hh Meny Ilﬂi Task (D) Status
MS.-far=grm o 43 T wyy oy o FafaTza R 7 H
(A) Tz® (B) =9 (C) T (D) VW
15, What is the benefit of 64-bit wingdows over 32-bit windows ?
lgl Supports more hard drives (B) Fewer lockups
(C) Su more memary (D) Supports more monitors
31-hmmuﬁzﬁm:nmm!? _
(A) ¥t wrd yrea & s won 4y (B) W EtE-SmEA R
(C) wftrw Rut) & wwrwm e 8| (D) ifire st ) wwrem won R
16, InMS Word, user can u.l:!whn:h button to cancel the last editing *
(A) Cul+ U (B) Undo (C) Redo (D) Shift + U
MS-ud & sratwen g wifi ofefim o faes wzm gm gz few o wwm R 7
(A) Cul+U  (B) ¥9% ) g (D) Shift + U
17.  What happens, if you press Ctrl + Shift + F8 ?
(A) 1t activates extended sclection
(B) It activates the rectangular sclection
(C) It selects the paragraph on which the insertion line is ﬁ
(DY All of these
uf? 3 Crl + Shift + F8 gurd,  ®ngm k 7
(A) wr farnfn wga w wfn s k|
(B) UK NTOATER wad W wiws sk
(C) ur 38 S w1 e won R P o T
(D) wr @
18. In MS Excel, cut, copy, ‘[:Iiimm fﬂlulftl of which menu ?
(A) File B) Edit (C) Insen (D) View
Ms-mﬁﬂ.n;m.ﬁwftﬂﬁﬁﬁﬁqmg )
(A) &EA (B) uf$z (€) wwe (D) =7
19. In MS Excel which button do you click to add up a series of numbers 7
(A) The Auto Sﬂgunn ﬂ':l; The Formula Button
(C) The Quick Total Button The Total Button
MS- e § N9 T Ewn i $ T 8053 F v firm wew v e win o
(A) wigww e (B) wigen wem
(C) fws dza v D) TEw
8 e e ———




20,

11.

22.

23,

24.

25.

In MS Excel, the cell FS refers 10

{A) Row F column 5 (B) Column F row 5

(C) function available in cells (D) Function key F4

MS-Tas i, i F s a e & 7

(A) TFwiem § (B) sfem F0S

(C) B 9 3usrey yad (D) w&1d & F4

In MS Excel, the result of a formula 1n a cell is the

(A) label (B) wvalue (C) range (D) displayed value
MS-THE 8, U 3= 8§ ST F T w1 Em R 7

(A) == (B) ¥ (C) ™= (D) e &,

Function that converts negative value into positive value in MS Excel is
(A) NOW (B) ROUND (C) TODAY (D) ABSOLUTE
MS-Tret &, e 1 ST W ) e o 1 vt e &, F e

(A) I3 (NOW) (B} 132 (ROUND)

(C) T2(TODAY) (D) TEFE (ABSOLUTE)

Which is used to insert new workshee! in current workbook in M5 Excel ?
MS-Te , TR FEaw § 7 adeie vatm w0 & fo e s
Eicik

(A) Alt+ Shift +Fl (B) Crrl + Shift + F1

(C) FI (D) Ctrl+Fl

In MS PowerPoint, to view headers and footers, you must switch to
(A) Normal View (B) Print Layout View

(C) Print Preview Mode (D) Both (B) and (C)

M- araT- ATz #, #et S F ) ga % for, st el fem S Em 7
(A) FHm= (B) e g (C) frfisgar (D) B) I (C)E

in MS PowerPoint, which of the following provide(s) a printed copy of your
presentation 7

(A) Outlines (B} Speaker notes

(C) Audience handouts (D) All of these
MS-W-miEﬁ,ﬁnﬁﬂwmmﬂiﬁgﬁnmmW% ,
(A) HAEZATH (B) wfram

(C) FATewA EBHTIH (D) TR

Code No. @ C-841/2011/Series-C 6



26.

27.

28.

29.

30.

3l1.

To start slideshow of a Presentay,, - iy MS PowerPoint
(A) Press F5 key .

(B) From shideshow menuy chogg, yiew ShOW option %

: : 2 VIEW = s EE

(C) From slideshow meny chogse rehearse timing

(D) Both (A)and (B) ' o

MS-qTE-=Te |, wiﬂqmﬂw,ﬁmﬁ Eack Aer

(A) F5#zamd | (B) TS M H AR = e 4
(C) e ¥t 3 8 & freel e 53 | (D) (A) e (B) 2

Which command in MS Powerpgint brings you to the first slide in your
presentation 7

(A) Next Shde Burton (B) Page Up

(C) Cul+ Home (D) Ctrl + End
MS-9TaR-ET82 § = 71 JEEn g, WO TALIH 6 AT TS WA
L3

(A) T2 =758 424 (B) T 3

(C) Curl + Home (D) Ctrl + End

What is the shortcut key to open Menu Bar in PowerPoint ?

- # B AW W Glerd & fem e A i R 7

(A) F7 (B) FS8 (C) F10 (DY Fl1
Processed, organised, structured data is known as

(A) information (B) data (C) record (D) field
wHhian, geaafeyd, dtad 227 &1 fem w9 8 9 e R 7

(A) Hq=1 (B) =& (C) f=iz (D) Frez

When building a database, the data dealing with an entity is modeled as a
(A) attribute (B) class (C) object (D) table
9 UF STHE WA §, A UF 9 30 | snawn 51 few w9 8§ whrelE e

AR 7
(A) T (auribute) (B) & (class) (C) T (object) (D) @iferst (table)
In database, customer phone number is called

(A) text (B) field

(C) record (D) Both (B) and (C
22 H, UTEF F1 T Tt 97 FEA R 5 (B)and (©)

(A) &= (B) e (€) frapré (D) (B) 3 (C) 3w

— ————— T AT



32.

33,

34,

35.

36.

37

Which field  in MS Aceess helps in setting data validation in a lable ?
vigha (B) Default value

(A} Caption D) v lu;ﬂ_ a I

{C) Decimal places ?:'l 1 tion rule o

Ms-mﬁ.%mmwﬁmﬁmmmgﬁmm .

weETT R 7 )
(A) & B fesie®  (O) Hmmwm (D) A
What determines a tables sort order it MS Access ?

(A) AutoNumber field (B) Index field
(C) Field Order (D) Primary Key

MS-TaE 1, U Tt w72 759 ) B AU e R 7
(A) e (B) e EFE  (C) Gweufi (D) WERQH
What type of resource is most likely to be shared as a common resource in 2

compuier network 7
(A) Kevboards (B) Speakers

(C) Floppy Disk Drives (D) Printers
T Foad , W A TER W B A G A & w9 @

AR 7

(A) Fr-ar8 (B) =i

(C) vt fawes grea (Dy =z

A tree topology contains the characteristics of

(A) Star topology * (B) Ring topology
(C) Bustopology — = (D) Both (A)and (C)
U 71 Zratera o frms wem wa ¥ ¢

(A) B ZmrmEi (B) fo Zrarerioft

(C) & A (D) (A) 3 (C) 2

How many bits are there in the Ethernet address ?
(A) 64 bits (B) 48 bits (C) 32 bits (D) 16 bits

foriz vee | frad fagm Em @ 7
(A) 6afeza  (B) 48fagm  (O) n2fem (D) 16faew

Which layer of OSI determines the interface of the system with the user ?
(A) Network  (B) Application (C) Datalink (D) Session

08 &t @1 # 7 war A foren & sanys # Rufm s d
(A) TTT% (B) TEFW  (C) TWE (D) dwm

e ey e

Gode No, : C-841/2022/Series-C 8



38. A browserisa
(A) tool for creating a databyg,
(B) Software program 10 viey y,qp pages o0 the Intemel
(C) Printing device
(D) Software program 1o delegs 5 folder
AT R U o %ﬁ
(A) STEH T TAH HC H 7|
(B) ﬁﬁzmﬂtﬁﬁhﬁmmﬂw
() fufen gfaa
(D) T WET ® Faefiz w0 i foro wiwara T

319, We can define a protocol as a
(A) Set of information (B) Set of software and hardware
(C) Setof rules (D) Set of operating sysiem
¥R TERTE 1 e w9 8 afonfes sueed 8 7
(A) HEAHI F1 7B (B) qu&m_aa'nmﬂﬂmﬁqg
(C) Ty &1 |vE (D) w=TeH A TR

40,  Which term is assaciated with Intemet/E-mail ?
(A) Plotter— =/ (B) Slide presentation
(C) Bookmark (D) Pie chart
Terie/d-He | A W e HeEud R 7
(A) = (B) ¥A7E WA (C) THAH (Dy = 7

41. Which is used by the browser to connect 10 the location of the Internet
Resources 7
(A) Linkers  (B) Protocol (C) Cable (D) URL
T g $2z Hae & T A e & ferd fanee 3w e e @ 7
(A) fewd (B) W@ (C) FAS (D) .30,

42. tulfills the requests of the client (browser).
(A) Web System (B) Wt‘hﬁil# (C) WebPage (D) Web Server

TR (ATIAT) T UG F IR w7

(A) Jmfomen (B) d@WIEE (C) Fu T (D) ¥ =

43.  Which of the following IS m:j word processor in MS-Office ? E
(A) WordStar  (B) WordPad  (C) Word D) W
MS- 34T f e § & &l 1 0 TEWHm R 7 (D) ond Rersect
(A) s€wm (B) WE () = (D) o wipwe

- - 9

Code No. : C-841/2022/Serles-C



45,

46.

47.

49,

51.

: documen|
The default page size for word N
(A) Letter (B) Lega a“::l Ad (1) All of these
T3 ghegie % o Fipostee T BT840 £ 7 o
(A) & (B) 0T (C) A4 (D) ¥E
In MS Word, the way text appears 01l @ page is called
(A) Format (B) Fonl (C) Form letter (D) Form
Ms-aﬂ,qmﬁaqrﬁnmmﬁﬁﬂmtrﬂmmﬁﬂ&
(A) w2 (B) i (C) i s (D)
How many alignments are there in MS Word -
MS-TE & frad tezaa B R 7
(A) 3 (B) 4 (C) 5 (D) 6
Computer instructions written in English words instcad of binary code 15
called as
(A) mnemonic code (B) symbolic code
C) gray code (D) opcode
Fﬁm‘ﬁx%mmmﬁmnm T SR e # 7
(A) Preifis =z (B) faffem®e(C) 3 (D) FHIHE
Firmware is a combination of softwareand ___ memory.

(C) DVD (D) external

(A) hardware (B) software
wﬁ)ﬂmmﬂr{ trrl) & we fawo R
(A) wTES (B) sfwam () RAFH (D) IE

‘Siul" is a tributary of which river of Himachal Pradesh ?
(C) Chenab  ~(D) Satlyj

(A) Rawi (B) Beas
“Forza e wem # Em T R TH R 7
(A) Tl (B) =\ () faam (D) HFerA

Which is the largest artificial lake of Himachal Pradesh ?
{A) Gobind Sagar (B) Maharaja Pratap Sagar

C) Renuka (D) Rewalsar
feram s 61 s e s e A A 7

(A) e A (B) WENTHI YA M
(C) T (D) fram=m

Sujanpur sub-division is a part of which district of Himachal Pradesh ?
(A) Bilaspur _ (B) Hamurpur (C) Kangra (D) Mand;
FAAYC 39-@VE fRurae e & I foret 1 v 2 7 .
(A) faemg (B) #HRH (C) whren D) wh

Code No. : C-841/20212/S¢ries-C 10



51

53.

55.

56.

57.

59.

60,

Nagini fair 15 celebrated ip Whigly 4: cerict of Himachal Pradesh ?
(A) Kan (B) Cham disie Kullu (D) Una
wﬂﬂm%ﬁﬂmiﬁhf&;ﬁm{mﬂmﬁ 7

(A) FTH (B) =man (€) e (D) =1

Lossar festival is celebrated iy Which district of Himachal Pradesh ?

(A) Solan (B) Shimlg ) Kinnaur (D) Chamba

mmfzmaﬂm#;ﬁmhﬁqémﬁmt 4

(A) HT&E= (B) Torsy i) fe=in (D) ==

Lal Chand Prarthi, . ' istrict of Hi

whiiy 1, a famous Petsonality belong to which distnict of Himachal

(A) Kullu (B) Lahaul-8pjii (C) Shimla (D) Mandi

mﬂm*ﬁﬂﬁZWﬁﬁﬁlfgﬂ:ﬁag%ﬂ%ﬁﬁﬂﬁﬁﬂﬁﬁﬂt 7

(A) F77] (B) =ma-wify (C) Fmwen (D) wwE

Pin Valley National Park 1s located in which district of Himachal Pradesh ?

A) Kullu (B) Sirmaur C) Shimla (D) Lahaul-Spiti
T T IO Temrae wew % faw DA A e R 7

(A) For (B) famin (C) fmen (D) = -=fifa

Guler princely state was founded by

(A) Hari Chand (B) Sibran Chand ﬁ

(C) Karam Chand (D) Anand Chand .

e T T o s e ) 7

= HERIME. AT O
Panchvaktar temple is located at which place in Himachal Pradesh ?

(A) Bharmaur (B) Udaipur (C) Manal (D) Mandi
TeEFan et s ven s fTn em e

(A) wmd (B) T=m@ (C)y HaT=h (D) wudh

The old name of Nalagarh was

(A) Hindur (B) Kehloor (C) Kirgram (D) Brahmpur
FTEATTZ 51 AT AT a1 ?

(A) fr=g (B) FFT (C) Trmm

(D) w&w
Dhami Firing Tragedy took place in which year ?
gt 317 wrE fem ad G720 7
(A) 1933 (B) 1935 (C) 1937 (D) 1939

Himalayan Riyasti Praja Mandal was founded in which year ?
faareraa fravadt gz 1 29 e ad § wd of 7

(A} 1939 (B) 1942 (C) 1945 (D) 1948

11 Code No. : C-841/2022/Serles-C



of Parbay.

61.  Which ing 0ge =11 hydroelectric project 7
tm“;;?::gt cmu[l{!ns Hﬁﬁﬂim‘“ NTPC (D) SIVNL
qrEd. |1 aafaweh #! E“"“ﬂ'ﬂ'-tr.ﬁ! ?

(A) wd.wa . {Eu} RERIRURR
(C)y wq.#& 4.4 ) R S ...
62. HRTC came into existence i“;ﬁh ;E“I ?
s am A . e ad : )
(A) 1971 (B) 1972 () 1973 (D) 1974

63. Nuala is a folk dance of which valleY of Himachal Pradesh 7
(A) Kunihar  (B) Doon ﬁﬁml Kiarda Doon (D) Chamba
F3Te Trras i ) R A F A TR
(A) wfEm (B) & € frammga (D) 990

64. Who among the following was @ lexicographer ? o
(A) Banabhatta (B) Dandin (C) Amarasimha (D) Panini
FEgawR E EwsE d 7 _ ¢
(A) wTIPEE (B) e (C) wmifar K

65. Founder of Nanda University was .
(A) Mahapadma Nanda (B i
{:E ) Ashoka Nanda on es
1z favafirarea % T ®H

s of Aurangzeb was condemned to death ?
§ Shah Shuja (C) Murad Shah (D) None of these
T 1 geges e e 7

(C) mreI® (D) T A F§ 7

67. Who among the following called himself as the *Second Alexander® 7

66.

(A) Alauddin Khilji (B) Samudragupta
(C) Chandragupta _ (D) Kanishka
far 4 & fFma 5T 319 ) 780 e F@ @ 7

(A) FeIT e (B) T

(C) FTA (D) FF

68. T’m }H-ImﬂngT the fﬂl{lﬂumﬁng gave a detailed account of Nalanda University ?
(A) Hiuen T-sang(B) Fahien () Megasthenes (D) Te-tsi
ﬁﬂﬁﬂﬁ?ﬂﬂmﬁﬁ&mﬁﬁ%ﬂ]ﬁmﬁ ? i
(A) & (B) FmRIM () TR (D) F-fam

Code No. : C-841/2022/Series-C T




69,

70,

71

72,

73.

74.

Who among the early na -
opinion in favour of the |ndl::;a:-:b'5 wﬂ]ﬁﬁu-::n[;:f '.tund o mobilize public
(A) Gopal Krishna Gokhale mmﬂ?ﬂ‘! D.E. Wacha

g:; quﬂ Lﬂjpﬂ} Rail (D) D,-;r!d_g‘hha_i Naoroji

R e 5 o o TS s i ST 3 7 et 2

(A) T e T ®) i T

(C) TN AT T (D) @reniTd A

Who was the Viceroy of Indig al the time of Jallianwala Bagh Massacre ?
(A) Lord Curzon-* (B) Lord Hardinge ~

(C) Lord Chelmsford (D) Lord Irwin

AN EATHTE & THY Wy & Agatia #1947
(A) TR (B) wHwign () o wERE (D) @1 e

Who is the first law officer of Government of India ?

(A) Law Minister (B) Speaker of Lok Sabha
(C) Atormey General of Indig (D) None of these
WA w1 v fafy sifvsd et 7
(A) FFF 7 (B) 1 &M o @i
(C) WA % FRrgaETe) (D) v & & A
The *Basic Structure Doctrine’ was enunciated by the Supreme Court during
the hpexams.in
(A) Golak Nath case (B) Maneka Gandhi case
(C) Keshavananda Bharat case %]E}' S.R. Bomma case
qeTs e g afvard gt fagm’ e are & dm sfrfea fem mn e 7
(A) e am (B) W et &g
(C) waEHe Wrdl ane (D) TR, 9 e
President can dissolve the Lok Sabha on the
A) advice of the Prime Minister ﬂ

- B} advice of the Chief Justice of India

C) recommendation of the Rajya Sabha
D) recommendation of the Lok Sabha _
ferg famrfra o &1 B9 1 ¥ R Ewd # 7
(A) warFe! 1 faf = (B) W % Hea w1 Ry
(C) T &1 1 SFAT T (D) it W1 6 SR W
Which amendment of the Constitution of India limits the number of ministers ?
(A) 737 (B) 867 _ _ (C) 87% (D) 91%
W FfauT &1 4 w1 5 9 6 e # dtm e w2 o
(A) 734l (B) s6al (C) 87ai (D) 914

13 Code No. : C-841/2022/SeriesC



75 Which state is called the ‘RiceB*! T Ingiy »

igl Kerala ig; $Emumka

(C) An : - amil Nadu

e AR TY

(A) ¥m= ® =& O swwm (D) e
76. Whose signature appecars on ten FUpee E“"!:nt}' notes 7

(A) Minister of Finance (B) Ciovernor of RBI

(C) Secretary, Ministry of Finane®__ (D) None of these

T8 B % wteh Gz e G #

(A) faw s (B) sm afy amd, marh

(C) wiga, = ga=m (DY w8 3 w94
77. The rationale of Public Distribution System i

(A) to control prices

(B) to reduce fluctuation in prices

(C) 1o ensure equitable distribution of essentjal goods

(D) All of these

BT AT e o = e

(A) @E{uﬁam 5

(B) IAT -S4 &1 58 T

(C) ?ﬂ%ﬂmmaﬁaﬂmmgﬁﬁwm

(D) @& =i
78. India’s largest run off river is

(A) Ganga (B) Narmada  (C) Mahanadi (D} Godavari

WA # H=8 T g5 A R R @R ¢

(A) 7 (B) 7d@ (C) TEdl (D) Tireraht
79. Which sea-port is in Gulf of Kutch ?

(A) Paradeep (B) Marmagao (C) Kandla (D) Cochin

F9g & @S B A SR 7

(A) THTEM (B) ®Wmmmmsii  (C) FE (D) =
80. The first electric train of India was run between

(A) Bombay and Surat (B) Howrah and Delhi

(C) Kalyan and Pune (D) New Delhi and Madras

s &1 g faea e fawd aeg e oft

(A) & 3 g () EESt 3 foweh

(C) e 3 g0 (D) 73 feeell 3wz

Code No. : C-841/2022/5¢rles-C 14
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512.

85.

86.

87.

The Principal Cashew P"‘m‘:“ln Centre of India is in

(a) ;n;m (B) Cochiy * ~¢) Madras (D) Quilon

gk 1o a"iﬁnuﬁlu'%mqwt? _
(B) *rfg (C) WE (D) =iTens

Which state has the largest “0as1|ipe in India ?

:g: E:Jmﬂ::l K (B) Tamil Nadu
aka

: = Andhra Pradesh

wra H | v ) gan ﬂrﬂmq@t‘?]

(A) A (B) #fimmry () wAfem (D) WwwEm

Th“: wind 55"5_['-'—'111 in the Cquatorig| areas is known as

%—"LJ Wﬂ;};{llfﬁ (B) Trades (C) Doldrums (D) Monsoon

3 T et o e i e T & 7
(A) wBaigan,  (B) AT gard (C) SeTe (D) wiH Eand

Sickle cell anemua is

(A) genetic disorder (B) viral disease

(C) bacterial disease (D) vitamin deficiency disease
o ifiE s w7

(A) wafI fawn (B) fammy Tm m®
(C) =y T (D) faefam &b =1 1m m
The green fodder plants for animals which are used in winter are

(A) Sorghum and Maize (B) Bajra and Jowar

(C) Maize and Jowar (D) Berseem and Lucerne

5fid St 8 AFal % 90 F w9 0 30 R wn e w9 ars i #

(A) T WahT (B) Wrwm 3 s\n

(C) W 30 5aR (D) wwfim 3 yfada

Who among the following laid down the foundation of nuclear science in
the country ?

(A) Vikram Sarabhai (B) Homi J. Bhabha
C) M.G.K. Menon 1)) Raja Ramanna
O st 1 Frt i et 1 of 7

(A) fasm ammré (B) &AW (C) wAE. F= (D) wsn e

Which is used as magnifying glass ?
C) Converging lens - (D) Diverging lens
;ﬂ;mmﬂﬁ?ﬁﬂ&amﬁmﬂmwt 2

(A) gHaA I (B) Waad e (C) shmfid (D) g S
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88. Sea waler is saltier than rain wat Cluse

(A) ses animals are sall Fﬂdwmfﬂ rth
(B) rivers wash away salts from Nd pour them into sea.

(C) sea beds have salt ptﬂd“‘:mg Mines,

(D) the air around sea is salsh-
A ==, i e @ e WA & Wi

(A) T g s g AL |
(B) FFead, wfis & e e S8 I 2 W T gy o v 4

(C) wgh Aet i o T AR O £
(D) &z % STy g AwEA Bl € |

89. Which country holds the G-20 presidency in 2022 2

(A) India (B) China (C) Indonesia (D) S Lanka
2022 #, G-20 1 Heawm FH AN A TR ME 7
(A) wmA (B) A (C) =fir D)

on biodiversity conservation 7 _
(A) Japan  (B) Nepal (C) St B (3] Australia
W ¥ el T W TR

20. India recently signed a memorandum of undcﬁ% ‘WN ich country

o - fafaum mwam @ v 3 re f F fgs
fa # 2
(A) ==

91.

- Rajasthan  (C) Chhattisgarh (D) Telangana
TEE Wew 4 7 A 8 it et o aifafEe @ -

(A) @R (B) U™ (C) BeETE (D) F=TET

92, Who has recently become first Indian player to have played 100 matches
each in all three formats of the game ?
(A) M.S. Dhoni (B) Virat Kohli
(C) Rohit Sharma (D) Shikhar Dhawan
aTet #l H HH 8 T4 YA fawre) amn faea @0 & o 6w § i |
0@t e
(A) muE. Ul (B) fresmsh () MRAT (D) frer wam

e ——
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The 300-metre long ‘Atal Bridg. ) o

recently inaugurated in which c:;‘,, for pedestnans and cyclists has been
(A) Ahmedabad (B) Lucknow . O M
geafadi A AR FEAE & g a0 Patna , eyl

& zarza fem a2 300t ok ‘FeA FA FEFEAE S

(A) FragEe  (B) =S

(C) A (D) =i
Ocean : Water :: Glacier - 7 ﬁ
(A) Reingerator (B) Ice ountain (D) Cave
m::m_::ﬂﬁrqt: 7 © W
(a) e (B) fam (C) T4 (D) T#

Which of the following will come in place of the question mark (7) in the
following letter-number series ?

M3V O5U_RTT, T9S WIIR 7 V& Mp—=F T
&) Y3GY T@®) ‘z13Q" 40 YISQ @) YI3P
If EHFNRQ is the code for BECKON, which word has the code
QDFWXULQ?
7f2 EHFNRQ %12 2 BECKON 5 o, A fsm mm w1 =12 QDFWXULQ &r ?
Eg} NCAUTIRN (B) NACUTIRN (C)- NATCRIUN (D) NACTURIN

In a row of girls standing from left to right facing North, Sushma is 15%
from the left. Sushma, when shified mhﬂrighlbymm:phm&,w
third to the left of Rubina, who is 17® from the right. How many girls are
standing in the row ? _

I #) :ﬁ‘ngmn&ﬁﬂ:ﬁ@r@mﬁﬂmﬁ_ﬁ.w:ﬁﬁ 1 541
4 |wﬁﬁﬂm§uﬁﬂmﬂ*mﬂqmmmﬁmmt.#{
ﬂﬂﬂ%tﬁﬁ:ﬁﬂﬁmmt,mzﬁﬂ 174 2 | if & = Tt aferend
af¥?

(A) 37 (B) 36

(C) 38 (D) Data inadequate / ET21 FIATA

Pointing to a lady in the photograph, Rajesh said, “She is my grandfather’s
only son's mother.”. How is the woman related to Rajesh ? —

(A) Daughter  (B) Sister (C) Mother (D) Grandmother
mﬁaﬁmmﬁﬁnm*ﬁamﬁm “u2 B 7 F e T
$uf #° 1 ofeen, Tam A fFa TR

(A) (B) =% (€) = (D) =&

0y 17

Code No. : C-841/2022/Series-C



99.  Synonym of ‘Repercussion’ is
(A) Remuneration (B) Consequence
(C) Reaction (D) Recollection

100. Antonym of ‘Lend’ is

(A) Hire (B) Pawn (C) Cheat (D) Bomow
101. One word substitution for ‘To cause troops etc. to spread out in readiness for
battle' is
(A) Align (B) Collocate (C) Deploy (D) Disperse
102, The tule of ‘Bharat Ratna® was conferred him at a colourful
ceremony.
(A) at (B) over (C) tw (D) on

103. Meaning of the idiom *To give chapter and verse for a thing” is

(A) To produce the proof of something

(B) To eulogize the qualities of a thing

(C) To make publicity of a thing

(D) To attach artificial value 10 a thing
104, 'HATAWA | AUH R -

(A) T2 (B) Teqe (C) =i (D) WAtk
105, ‘i = afa fa=ge d

(A) 3 +% (B) 3+¥F (C) 3 +F@m (D) 3+

106. "G5 &1 fasmu # .
(A) TfraT (B) el (C) (D) &H

107. ‘Faom=< S99 R
(A) # (B) = (C) "= (DY =

108. ‘ﬁ?ﬂ'ﬂﬂqﬂhﬂﬁl%:
(A) TR (B) Faw (C) Wi (D) faftes
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109:

110,

112.

113,

‘C'isa

(A) Low level language (By High level JanBU3ES
‘E] h‘lﬂdll.l.'ﬂ'l- lﬂ'ﬁr':!- IEﬂguElgc tD}I} ![':E‘-ﬂgﬂﬂ {]f these
CRUS

(A) Frm wE A (B) FEERWM (o) goan @ WD) ¥ @ W T

How many whitespace characters are allowed in 'C’ language 7

- ura # T e IE SR a7

(A) 2 (B) 3 () 4 (D) 5

To develop which operating system, 'C” language Was invented ?
(A) Linux (B) Unix (Cy) Androd (D) Mac
oo v ) Fm iTaRien faeen & fawm & ferd @ T A 7

(A) TR (B) I ) e (D) T

Which tag/element defines the HTML document’s body 7
&7 T 4 vEaa HTML ST 6 atd) @) foaea s # 7

(A) <HTML> (B) <HTMLbody>

(C) <Bdoy> (D) <Body> ﬁ
Who invented HTML 7

(A) Dave Raggett (B) Tim Berners - Lee

(C) Denis Ritchie (D) All of these

HTML F &3 fmma v o 7

(A) Tatr B) fm-wdd-aft () Fmfh (D) TET

114. HTML tags with no content are called
(A) Special tags (B) Advanced tags
(C) Empty tags _ (D) Other tags
HTm@hﬁﬂmﬂaﬂﬁﬁmmi 7
(A) fagm (B) UBHETER (IW) &M
(C) et 2 (D) =
115. What is MS Word used for ?
(A) Design Pictures (B) Design Videos
(C) Paint _ (D) Design Texts
MS. T2 fare for g foran A 2 7
(A) faa feamm A & fom (B) Hifea fammgn =0 & fam
() Hz=m fee (D) &= faesmg &3 % foru
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116. Office Button is SWMHIFdh““h Which feature on MS Word ?
(A) FH]J':T {H:I Ribbon (C) Arrow (D) Office
MS.-aré z ffs w2 8 T2y oy e
(A) T (wmm) (B) T By o) by (D) s

117. Quick Access Toolbar is present ___of Office Button in MS Word,

(A) Up (B) Down (C) Left (D) Right
MS-TEd iR ¥AF____ s v zoram R g 2 |
(A) FW (B) A (C) wta (D) =R

118. How many tabs are there in Ribbon in pMs word 7
MS-a8 8 fras & e Sa B £ 7

(A) 6 (B) 7 (C) 8 (D) 9
119. Which of the following tab is the defaulr in MS Word ?
(A) Home (B) Insert (C) Page Layout (D) Reference
MS-aE # frer & 8 2 ot 38 fewres 2 21 8 +
(A) ®m (B) Fa‘-!i (C) TAawEe (D) fey
120. Which of the following tab is used in MS Word to add the document citation 7
(A) Home _(B) Insert (C) Page Layout (D) Reference
mmmm%mms-ﬂﬁﬁnﬂﬁmmhmﬁm#?
(A) #m (B) v (C) AT (D) frwtm

121. Which of the following is a layout tool in MS Word 7
(A) Boundaries (B) Guides (C) Rulers (D) All of these
MS-a2 1, fro g @ PRATE AT AR 7

(A) =i (B) e (C) *od (D) ® i
122. A within the paragraph will select the entire paragraph in MS

Word.

(A) Single-click (B) Double-click (C) Triple-click (D} Scroll
zﬁfﬁ'ﬁﬂﬂmﬁﬁﬂwaﬂi#mmﬁwﬁmﬁ £
I

(A) fom e (g Wis () T@fEs (D)
I123. What is the keyboard shorteyt lect All in MS Word ?
M- 3, % e s o s g e 1 7

(A) Cul+R (B) Ctrl+ Ay (C) Ctrl+Enter (D) Curf+ A
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124. Which option 1s correct to save the d . MS Word ?
(A) Save (B) SaveAs enCui+S (D) Allofthese
MS-E'QHWEETHHW‘Z'I%%W;!W@* ’

(A) &4 (B) #aum ) cgl+s (D a8 w4

125. Which of the followmg 15 automatically ¢ounted in MS-Word ?
(A) Number of Words (B) Number of Pages
(C) Number of Characters (D) Allof these
MS-=E€d, e 1 8 femd @a: g i 7
(A) weat & " (B) o1 1w
(C) tail & we (D) @eh

126. What does Justify option do in MS Word ?
(A) Italigns the text to left margin, ﬂ
(B) It aligns the text to right margin, '
(C) Ttalign the text to both left and right margin.
(D) It aligns the text to centre.
MS-a2 #§ FETEE e ® wm R 7
(A) T8 T2 H 714 o & g H e R
(B) MR R A mfia s fiud st
(C) oz =1 & 3R 2 2 ik S Em A S R
(D) UE TR FIHeA T @A R |

127. What is the default paper size in MS Word 7

MS-a% o famiee TR HRS F R 7

(A) 8x11 (B) B5x1l (C) Bx11.5 (D) 85=11.5
128. Which of the following type of Border can be added in MS Word 7

(A) Colourful (B) Text  (C) Picture (D) All of these

MS-T2 8, frey 3 & FRm v & aTET i et 0w R

(A) e (OfF)(B) TF (C) fa= () (D) zEwd
129. Which is the heart of an operating system ?

(A) Software  (B) Programs  (C) CPU (D) Kemel

e WeITE 43 1 5ed (F1E) FHATR 7
(A) ®fFea@t  (B) W (C) Hfig. (D) H=

130. A collection of computer programs, libraries and related data are referred to as

¥ , (B) Process (C) Algonthm (D) None of these
. et s s &1 S e = 3 e o v 7

(A) (B) wFH (C) wwiiten (D) ¥ § &g 7E

21 Code No. : C-841/2022/Series-




131. Which memory is placed between The CPU and The main memory ?
(A) Virtual memory (B) ROM
(C) RAM (D) Cache
qEA ah) aivd f g. F we W e ot W R 7
(A) =9¥& Tt (B) W (ROM) (C) T (RAM) (D) 7 (Cache)

132. Why do we need process synchronization ?
(A) To avoid some of the processes
(B) For the easy transfer of process from disk to memory
(C) To avoid the inconsistent result
(D) None of tﬁm N
WohH qegaTo | ITEATE R 7
(A) T8 9wH ) 7 & ford
(B) | Ul 7 waw & S 3§
(C) ama qitomst & o= & ford

(D) %8 3 %ré 74
133. The occurrence of deadlock can be detected by the
(A} Long term scheduler (B) Medium scheduler
!C} Resource scheduler (D)) Short term scheduler
AT (TfeRTg) ) e &1 fEEs g ga g 7
(A) ﬂ’rcjmsﬁ:l FE® (B) WerHTe HHES
(C) T ages (D) TEHEAR HHES

134. Which function in Excel tells how mav numeric entries ere
TS § 1 W v gg v mmwﬁ?m ?
(A) NUM (B) COUNT  (C) SUM (D) CHKNUM
135, The basic unit of a worksheet into which you enter data in Excel is called a
(A) cell (B) table (C)  box (D) column
o ahefte 1 ot s, P o &2 vl (we) w

» T FgeAran 7
(A) #e (B) faw (C) wTaw (D) e

136. How many sheets are there, by default, when we create a N :
“F“Z‘immﬂlﬂbﬁt W.ﬁﬂﬂiﬁzﬁmiﬁé&m File 7
(A) 1 (B) 3 (C) 5 (D) 10

137. Which one 1s not a function in MS Excel ?
MSTRE e dasR e wm ymd i B 7
(A) SUM (B) AVG (C) MAX (D) MIN

138. The feature of MS Excel quickly completes a sori
{A; Auto Complete q{Bg Auto Fill series of data,

RECH S R L I,
MS 321 1 G FATR |
(A) FAFTRE B) IAfm () e dvza (D) wifn
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139. Which option creates a Drop Down [ 4, of values in MS Access 7
(A) Oleobject (B) Hyperlink (C) Memo (D) Lookup Wizard

MS-TaRa 1 T (3) ) T-213 foyey i 1 T TN 8 7

(A) 3R HedR (B) EEOEH (o (D) -3 faemd
140, The columns in a Microsofl access ah) also called

{(A) Rows {B‘t Records [E?mﬁcmg (D) Columns

HIHIETR UFHE 799 § S8 98 W Sgera 2 7

(A) T (B) frid () B (D) wiew

141. Which features of MS Access is used 1o duplicate 8 control's formatting ?
(A) Manager (B) Wizard (C) Painter (D) Control
Ms-mﬁﬁmﬁﬁmmmnﬁmﬂgﬁ&n#ﬁﬂm#faﬁﬁmm
i

(A) B (B) famrd () T (D) &
.
142. Which of the following is a method 1o create a new aGLE AR Access ?

(A) Using Design View Tab
(C) Directly Entering Data
fres § & o w0 fafy MS-wa &

143. Which of the®l¢ Jing database object in MS Access hold data ?
(A) Fopfnsy, \(B) Reports  (C) Queries (D) Tables
A f e B W Sz sieiae, B W e R 7

(A) e (B) frméa (C) == (D) z=&

144. Which of the following is not a database object ?
(A) Tables (B) Quenes (C) Relauonships(D) Reports
e # B F T U 22EE Hiedw TR 7

(A) Z& (B) #=H (€) femmfm (D) frids

145. The overall description of a database is called

(A) Data Integrity (B) Data Manipulation
(C) Database Schema (D) Data Definition

Yo F1 AT U 1 FEA & 7
(A) Tomamm  (B) T@¥E (O TAw =M (D) 22 wfoam

-
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146, In operating system, each process has its own
(A) open Files
(B) pending alarms, signals and signal handlers

(C) address space and global varighles
(1) All of these

WETEAE T, Wellsh WEHW 1 B R sy —
(A) e

(B) 9t&n yemd, firmer 3iv feoes Rveem
(C) v2H w5 v g

(D) = wfl

147. The main memory accommodates
(A) CPU {B) User Processes
(C) gg;rqting System (D) Al of these
H& (dwrft) o i # -

(A) #idty (B) W U#R (C) waemad (D) g i

148. The list of coded instructions 1s called

(A) Computer Program (B) Algorithm
(C) Flowchanhpaexams.n (D) Unlity Program
Hifen frdvii f g Fen FEa € 7

(A) FER AW (B) TIHE () werar (D) gfefed s
149. Light pen and Joystick are

(A) Algorithm (B) Input devices
(C) Output devices (D) Portals
ez U i Farafers 8 -

(A) ueites  (B) WRAFE (C) smmgafint (D) e
150, Which is HTTP web server 7

(A) Lucene (B) Fedora (C) Perl
FHAHTTPaa gt g 7 L
(A) wqH= (B) %=m (C) v (D) 397

151. Which programming languages are classified as low level languages ?
(A) BASIC, COBOL, Fortran (B) Prolog

(C) C,C++ (D) Assembly | :
mmﬁmﬁﬂwﬁﬁﬁnmﬂumiﬂﬁm;ﬁg?ﬁ
(A) dfe, Fame, wigh (B) WIHn

(C) C,C++ (D) HTETATOT W)
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152,

153.

154.

155.

156.

157.

158.

What is the other name for programm,

(A) mnf;q " fm{m ROM EME;E (D) PROM
warefa I A TR 7
(A) W (B) Tm ©) wamFEH. (D) TH

What 1s the most common 0ol used o regyrict access 10 3 computer system 7
(A) User logins (B) passwords

(C) Computer keys . (D) Access-Control Software

L O ) VAR W F0 i fary e ST G P ER

(A) g HATR (B) . X
(C) FI H (D) uwEE faam ATREAT
Micro-processors as swilching devices belong to which generation of computers ?
(A) First (B) Second (Cy Third (D) Fourth
fearers el & w0 B Argm IR R i & el 8 Fated # 7

(A) wuw (B) fafa (C) T (D) =4
What is the full form of USB in computer ?

(A) Universal Securty Block (B} Universal Serial Bus

(C) U‘gvml Suﬁw%f: Barrier (D) Universal Stage Base
FEA A UHAL FIP FTFR 7

(A) t[ﬁ;hﬂ fawnfed) =t (B) Firadw wiftae =8

(C) gfrade wiweam afer (D) Fhade 23 9w

Which of the following is not an Application Software ? m
(A) Windows NT (B) Page Maker

(C) WinWord XP (D) Photoshop

Fre 6 9 Y T e AT T R 7
(A) g ma @l (B) T (€) = wwf(D) wem

Which is related to Internet ?
(A) URL ~ (B) DMP (C) BPM (D) URK
FH T $ee § wafud & 7

(A) 3mud,  (B) fwmd. (O fifm (D) gam

Which toolbar is used to change the font and font size in MS Word ?

(A) Standard toolbar (g] Formatting toolbar

(C) Font toolbar ) Text toolbar

MS-TE B B 3t w2 sren aee & 1 e zevam 1 avm R v 4

(A) Rvedgan (B) wHfengE (C) $RR (D) I ream
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159. Pentium is related with Which Pan ¢ the computer 7
(A) DVD /. (B) Hard Disk
(C) Micro Fr:ﬂﬂm ﬁmﬁiﬂi ?”Jl Mouse

(A) fl.ifr.fl. (B) "ﬁsq (C) wmgwmdm (D) =130
160. ATM networks are

(A) Connection less (B) Interconnected
(C) Connection oriented . (D) MNone of these
v A .uH. ek #

(A) ERutEn  (B) FOFNER () geumewm (D) T A FE A

161. The internet working tocol S known as
Sorz afdn wereTa % 60 F H T g7

(A) SMTP (B) PPP (C) TCP/IP (D) NNTP
162. Network of networks is known as

(A) Intranet (B) Interet

(C) Local Area Network . (D) WAN

FTaw! ¥ Joad & w54 I AR g

(A) %grae (B) o0

© TAEXamMSIn
163. The inner core m&ﬁlmlﬁ bre 1s - in composition.

(A) Glass or plastic : (B) Bimetallic

(C) Copper {D} Liquid

UF Aol GIIM & HATE #IE &1 G415 wHIEA R 7

(A) mRAaEfes@) Rufe () @@ (D) @&
164. Which of the following device copies electrical signals from one Ethernet to

another 7

1&.)-;1 ni%q (B) Repeater (C) Hub (D) Passive hub

HH ﬁﬁ@hﬁﬁmﬁwﬁmﬁmﬂmﬁt?

(A) fom (B) frdrex (C) w™ (D) Aftra &=
165. The 4 byte [P address consists of

(A) Network address (B) Host address

{Cj Both (A) and (B) (D) None of these

sz w1, v3W FEmd wm a2 _
{A} ?!Eﬂ*qéﬂ (B) ¥ TEH
(C) (A) 3 (B)zH (D) T A T

T T T e e s e ——

ey e —
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166.

167.

168.

169.

170.

171.

Which refers to the physical or logic,

(A) Dataflow (By Mode of operation
(C) Topology ) [D'j None of these
e H A 9 W O e F i s ]Eﬂmﬁﬁzﬁiﬂ% ?

(A) Za 94 (Dataflow) (B) ﬁmﬂaﬁﬂ{'mm of operation)

| arrangement of a network ?

(C) =t (Topology) (D) wAARE E
Which topology requires a central ¢cg b?
= troller of hut i
(A) Mesh (B) Star n{g}‘clriu! (D) Ring
m@mﬁﬁﬁﬁﬂﬁﬁmm“ﬂwﬁ?ﬁ! ?
(A) #= (B) =W (C) ¥8 (D) T
In the TCP/IP protocol suite, a port number is the identifier at the %
(A) Application layer (B) Transporl layer

(C) Network laver (D) Physical layer
TCP/\P WevHia qe #, 7o 9 s fam o @ Ao gl & 7
(A) sgmEmTA (B) Temwa (C) yahT@ (D) M

Which of the following data structure is linear type ?

(A) Strings (B) Lists (C) Queues (D) All of these
= 7 @ =19 ) 32w es w7
(A) f&=m (B) fo= (C) (D) TEa

What characteristic of RAM memory makes it not suitable for permanent
storage 7

(A) too slow (B) unreliable (C) itis volatile (D) too bulky

Aoy St 6 o o e 38 v e 3 fer s = R 7

(A) s it (B) HfEwEeE (C) sfeu (D) 3eaa =&

The circuit used to store one bit of data is known as

(A) Register  (B) Encoder (C) Decoder (D) Fhp-Flop
ﬁh%ﬁ#m%mmﬁmﬁmmﬁmmﬁmmt 7
(A) T (B) T=RIH (C) fe=r=t (D) gt

172. Which of the following 1s lowest in memory hierarchy ?
(A) Cache memory Eg) Secondary memory
(C) Registers ) RAM
ﬁﬁﬂmﬁﬁﬁﬁﬁﬁaﬁqﬁmﬁﬁl ?
(A) &1 (Cache) =t (B) fedftus oy
(€) =t (D)
X i
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173. Cache memory acts betW

(A) CPU and Eﬂﬂiﬂ‘ (B) RAM and ROM
(C) CPU and (D) None of these

E 2 [Cacht}mmﬂﬂm% 4

(A) #.dg (B) % afie v

(C) #t.dt.q, 3 wd 58 (D) w8 & wd 78

174. The circuit cﬂnv:niﬂibh‘?‘d?“ into decimal is
(A) Encoder  (B) MWUPlexer (¢y o ier (D) Code Converter

mmmﬁmﬁiﬂﬂmﬁqﬁaﬁamﬁ?
(A) T=TEt (B) AR (C) fa=rem (D) =TE ®ael

175. A binary digit is called 2

(A) Bit (B) By (C) Number (D) Character
T TR i s R R 7
(A) fa= (B) Wig (C) e (D) #Em
176. The language that the compuler can understand and execute is called
(A) Machine language (B) Application software
(C) System program (D) None of these
MTHT S FEET waw Fa # 3 R wrifam e g 2, @ wEaT 2 7
(A) 7 (B) Fwdm dfwam
(C) Taw=x wmm (D) ¥ | =78 T
177. Which device can be used to directly input printed text ?
(A) OCR (B) OMR (C) MICR (D) None of these

firee 2wz %1 i Fafim =03 & fore 3vam 6 o aef g e A 2 2
(A) AL (B) MWHR.  (C) w3EAN(D) T & % 78

178. Bug means
(A) A logical error in a program
(B) Documenting programs using an efficient documentation too

(C) A difficult syntax error in a program
(D) None of these
aw w R

(A) o T # i af

(B) T 28 SR g a1 iy <k M ST ) gt s
(C) W ST & Hi a1 rep o2

(D) ¥H & %1d 7
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179.

180.

The errors that can be pointed oy :

(A) Sy‘nlrax Errors a tby I?Ef n?pﬂ:;:::termrs

(C) Logical errors ( D) Hﬂ"‘:t of thesc
mﬁmmmgﬂ'ﬂhﬁ‘mﬁmmﬁﬁtmﬁnﬁﬁ!?
(A) =T -t Ffeat (B) - ZRA o
(C) =t Ffemt (D) =5 @ ®1§ A

Which of the following is not hardware

(A) Magnetic tape {B:'j Printer
%_‘s}! VDU terminal (Dy Assembler
# B W WA A R 7

(A) gaf@ 29 (B) fim (C) &g, W= (D) HIETEH

181. In binary number system a digit ranges from

(A) Oto9 B) Otol (© 0to 15 (D) Otwo?

fasmarh wem vgf 8, 3% w1 ww sn B 7

(A) 089 (B) 0# | (Cy 0&15 (D) 0/ 7 h
182. What is the hex equivalent of 916, a 4-bit binary number ? ke

916 1 ¥ qeaih, TS 4-farg Ramurd wen mmz ?

(A) 11112 (B) 10012 (C)y 01102 (D) 11002
183. ASCII code is required for representing more than characters.

3 3firs Faedl 1 75 g $0 F B ASCI #1e savwas R |

(A) 16 (B) 8 (C) 64 (D) 32
184. Software required to run the hardware is known as

(A) Device Driver (B) Program Manager

(C) Task Bar X [[% Task Manager

Hﬂﬁﬁﬁ%%qmm FaEnd I W R 7

(A) R g (B) wmm¥asw  (C) T@am (D) v ¥
185. Which is volatile memory ?

(A) ROM (B) EPROM (C) RAM (D) None of

wfa (Fu) FR AR 7

(A) T8 (ROM) (B) ¥WiH (EPROM)

(C) 1 (RAM) (D) ¥ | wr§ 7
186. VLSI is used in which generation of computers ?

(A) Second B) Third (C) Fourth (D) Fifth

et 1 e i § VLS1 3w e s g

(A) e (B) (C) =Y (D) Y=g

29
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187.

188,

189,

190.

191.

192.

193.

. :mmd' for th
Whuch device 13 ) Mﬁd:r: Internet Connection ?

(A) Joystick (B ; (C) CDDrive (D) NIC Card

mﬁmtﬁmﬁﬁ%mu ok

(A) mas (B (C) @ zga (D) TH.HEHL

Junk ﬁnﬂiiﬁﬂiﬂfﬁmf 5 Suos

(A) S (C) Sniffer Script (D) Spoo

ﬂi-gmﬁﬂﬁmimt

(A) == | C) Em s (D) =

Acampm:rcmnﬂt'bﬂ“"ﬂ-“dﬂﬂ not have the

(A) Compiler (B) Loader

(C) Operating Sysiem (D) Assembler

ﬁiﬂ@hﬁh?ﬂﬂ“mt? ‘ o

(A) F9mgem (B) TS (C) FaEm#d (D) HIEA

In analogue computer o

(A} Input is first converted 10 digital form

(B) Input is never converted 10 digital form

(C) Output is displayed mdigital form

(D) A]Inftht;:

(A) Fram T s e Tafm dm 2 |

(B) Frim =nh oft fefarm #7 3 Taida off drn 2

(C) faim, fefazm sad welim 7 2 |

(D) FEaA

A computer program that converts an entire program into machine language

is called a/an C) Comail b, Commander

(A) Interpreter (B) Simulator (C) Compiier o

% FogZ T Y A w1 S ST A A e #, 0 wEe R g

(A) S (B) famma (C) =mmsen (D) FHE

The process of ’:i'ans!':n-h:g files from a computer on the Intemmet to your
ter is ca

(A) Downloading (B) Uploading (C) FTP. (D) JPEG

w777 T UF SO A 1 =TT FOGZ B FATA F4 F T FEA 8 7

(A) TEFETET  (B) wwenfgm (C) AR (D) E R

Malicious software is kn

'(A} !cfiﬂﬁwm e (B) Malware

C) Maliciousware (D) MNiegalware

&feea (fagh) siRam S feg e S T AR 7
(A) ¥FW__ (B) Werm () HEER (D) wmeEm
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j94. The structure or format of data is calleg

(A) Syntax (B} Semantics . . D) Formattin

21 1 e A EE A wESTA R o ) St ‘ )

(A) fa=am (B) fdf=es (©) ww (D) wafEn
195. A 15 the physical path over which s e travels.

(A) Path (B) Medium IIC_r)' ;;Efmgf' (D) Route

W e T E 2 R s v gt g R 7

(A) ¥4 (B) wrem (C) vt (D) ¥¢

196. Transport layer protocols deal with
(A) Application to Application communication :
(B) Process to Process communication
(C) Node to Node communication
(D) Man to Man communication

A Wit fees weu @ 7
(A) FAIEM § FIAM §91 (B) W#H @ THH HIH
(C) T2 # 97 "9 (D) #=8 &9 §ER
197. Multiplexing is used in
(A) Packet switching (B) Circuit switching
(C) Data switching (D) None of these
Hedrtann frmd aam e s 2 7

(A) Sefagms (B) shogfEes (C) Tmf@=ss (D) @a g w5
198. Which i1s not a application layer protocol ?

A W SAIAT 91 Wt TE R 2

(A) HTTP (B) SMTP (C) FTP (D) TCP

199. A program that is employed in the development, repair or enhancement of
other programs is known as

(A) System software (B) Software tool

(C) Applications program (D) Uulity program

v vy fras 39gm w=g vt % faew, qun W gfe 8 fen o R, =
FEAAME 7

(A) famm gfwam (B) ®faw 7o

(C) FTWAN TS (D) IuIfen o

200. Which was the first electronic/electric programmable computing device ?
A) Enigma (B) ENIAC (C) Colossus (D) Bombesm

z.(mm sﬁag‘l‘ﬁwsﬁﬁzﬁ FaTEyita wore gfe e |t ot ¢

(A) ufm (B) iTA.FETH.(C) FewE (D) aiw=wm

R S e e ey e S R —— —— e
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